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:(1) Question No. 1 is compulsory. ]
(2) Attempt any three questions out of remaining five. -
(3) Figures to right indicate full marks.
(4) Assume suitable data if required and mention the same in answer
sheet. O

Explain in brief d1fferent methods used to combating frequency—sclec;we 10
tading

Implement binary cross correlation receiver and also evaluate 1ts j,crformgnce 10 1
interms of probability of error. . . ,

Design an optimum Non-coherent receiver in random Qhﬁée channels, 10
Give the schematic diagram for M-ary optimum receiver using Matched filters. 10 a
Also derive the probability of error for orthogonal signal set.

Describe in detail process of model-based sourc.e coding. 10
Explain time-variant nature of the channel in Doppler—shlft domain. 10

What do you understand by ISI‘P State am: prove Nyquist theorem for band- 10

Limited channels. _
Explain Time sampling approach to detect 31gna1 in coloured Gaussian Nalse © 10

Explain optimum waveform nesewer in white-Gaussian Noise. .10
Draw the duo binary er&eder with precoder. The binary sequence 10
10010110010 is the mpu% ‘Construct a table showing precoded sequpgce '
transmitted amphtude levbals received signals, levels and decoded sequence

Explain Average ¢ aﬁst of decision in Bay's detection of received mgnql 10
What do you measn by relevant and Irrelevant noise. Explain their rolg in 10
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N.B.: (1) All questions are compulsory.
(2) Answer any four questions. o
(3) Figures to the right indicate full marks marks. ol
(A) Why shape the antenna field pattern? Explain. ' .\::"C-‘ ' 5 -
(B) Discuss power control in WCDMA and CDMA 2000. w 5
(C) Explain security aspect of Bluetooth. 5
(D) Compare various WI-FI significant standards. K;_\j‘l‘? 5 1
(A) How does sectoring improves S/1 in cellular system. R - 10 i
~ (B) Explain forward and reverse channel of WCDMA in detail. 10
o -
(A) A cellular Service provider to use a TDMA schemgz;{&é}i\ht can tolerate a signal 19 g
to interference ratio of 16 db in worst case .Find the optimum value of cluster
size N' in case ofi- S
(i) Omni directional antenna
(if) 120° sectoring and
(iii) 60°sectoring o) "
Which sectoring will be better 60° 01;3;&0" ? Assume path loss componet n =4 ,’ i
(B) Discuss IMT-2000 system in detgii}i } 10
(A) Explain intelligent cell conce, 5t and its application. 10
(B) Explain with neat diagram function of adaptive equalizer in details. 10
(A) Describe IEEE 802.11 architecture compares DSSS and FHSS. 10 i
(B) Explain following terms 1) Mobile IP and Mobility Management 10 =
©l "“l‘ 2) Location management in MANET '
Write short notea,i‘;;‘o‘iim T 20 ¥
(a) -Diverzi’&techniquc i
(b) RFID Technology

(c) ED@E Technology . ]
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: (1) Question Number 1 is compulsory.
(2) Attempt any three questions from remaining.
(3) Assume suitable data if required.

Why calibraton is requried in milimeter wave design?

How balanced FSK modulator is used to eliminate the DC offset and
enhanced noise?

Explain importance of axial ratio in polarization diversity.

Discuss use of PN sequence as preamble in SC FDE system.

Explain 'Link Budget Analysis' used in millimeter wave communication.
Explain operational principle of OFDM with symbol pattern.

Write acquisition and tracking algoritm for beam steering.
What are beam switching array? Compare them.

Draw block diagram of SC-FDMA svstem and explain.
Describe a protection switching arrangement. Contrast the two types of
protection switching arrangements.

Explain adaptive channe] estimation for SC-FDE wireless system.
In QPSK system Justify, the higher the value of M is, the lower power
efficiency will be. Also explain bit error probability of QAM signal.

Explain spatial and temporal diversity used in milimeter wave
communication.

List performance specifications of BPSK and QPSK modulator for
millimeter wave applications. Describe any four of them.
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N.B.: (1) QuestionNo.1is cdmpulsory, solve any 3 questions from remaining -
S questions.

(2) Assume suitable data whenever necessary.
(3) Figures in the right indicate full marks.

1. (a) Deéscribe the Cloud Service Delivery models with Examples.

10

(b) Explain Identity Management and Access control. 10

‘2. (a) List the risks and issues of cloud computing mentioned by Gartner. 10
- (b) Explain when to avoid Public Cloud and Private Cloud. 10

(a) Compare and Contrast between Google App Engine and Amazon EC2. 10
(b) Describe the Open Stack Havana Architecture.

10

(a) Explain the architecture of MCC. 10
(b) Write down about load balancing. 10
(a) Explain about virtualization of CPU ,memory and I/O devices. 10
(b) Draw out the comparison between KVM and Xen hypervisor 10
Write short notes on (any Four) : 20

(a) Implementation leveis of Virtualization
(b) Trusted Cloud Cemputing
(c) SSO (Single Sign On)
(d) Component of Eucalyptus

con. 10060-16.

-
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(3 Hours)

: (I) Question No. 1 is compulsory

(2) Attempt any three questions from remaining five questions

Compare Electronic Code Book (ECB),Cipher Block Chammg (CBGJ and
Cipher Feedback (CFB)

What is Integrity and Non-Repudiation? | ol
ARP Spoofing e
Iris Recognition system

What is symmetric key and asymmetric key crypt Ogra”ﬁ & y
Alice's non secret no. (n) = 23,secret no. (x)\v- 6 and Bob's non

secrete no.(g) = 5, secrete no.(y) = 15. Show hofw ‘both will exchange key
by Diffi-Helman Key exchange algorithm.

What is role of Digital certificate in mess.'age;‘imﬂxthermf.:at:on‘7 What are the
applications of Digital certificate? O

What is role of SSL in security ser\g?\ééﬁé? Where SSL is located in TCP/IP
stack? How does SSL works? {_ff\\'

What is Importance, application and advantages of IPSec? Where IPSec is
located in TCP/IP Stack? * |
Classify Intrusion Detalmon system and explain its role of in network
Security \ o

Explain the cnte:;rnse wide network and vulnerabilities

Explain in br{ef steps involved irf DES?

Explain Etbufal issues in Intellectual property and copyright
Explain. };%quxpmcnt security testing?

short note on (Any Four)

A)  What are the required properties of HASH functions?

.

)} Explain DOS and DDOS attack
C)  Security Audit
D) Role of TRAI
E)

Computer Crime
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